—J= A MATH 3330:
| HE Applied Graph Theory

ASSIGNMENT #6 Due Mon. Mar. 15 by 3pm

1. For the following graph and the given tree (bold edges), indicate the set
of frontier edges for the given tree (bold edges). Give edges by their
endpoints (i.e. XY would be edge adjacent to vertices X and Y). For
each frontier edge in this set, indicate the tree vertices.

2. For which graphs are the depth-first and breadth-first trees that result
identical, no matter what the default priority and starting vertex are?
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Please refer to the graph below for questions 3 through 5:

pe® 9

3. Draw the output tree that results when the Tree-Growing algorithm (Alg.
4.1.1) is applied to the above graph, starting at vertex A. Include
discovery numbers and use lexicographic order as the default priority.

4. Draw the depth-first tree (or dfs-tree) that results when the Depth-First
Search algorithm (Alg. 4.2.1) is applied to the above graph, starting at
vertex A. Include dfnumbers and use lexicographic order as the default
priority.

5. Draw the breadth-first tree (or bfs-tree) that results when the Breadth-
First Search algorithm (Alg. 4.2.2) is applied to the above graph, starting
at vertex A. Include discovery numbers and use lexicographic order as
the default priority.
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Please refer to the weighted graph below for questions 5 and 6:
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6. Through application of Prim’s algorithm (Alg. 4.3.1) on the above
weighted graph, starting at vertex A:

a) Draw the minimum spanning tree that results. Include discovery
numbers and resolve ties using lexicographic order.

b) Indicate the total weight of the resulting tree.
7. Apply Dijkstra’s algorithm (Alg. 4.3.2) on the above weighted graph,
starting at vertex A:

a) Draw the shortest-path tree that results. Resolve ties using
lexicographic order.

b) Give a table indicating for each vertex in the graph: 1) the discovery
number and 1i) its distance from A.

MATH 3330 Assighment #6 Page 3 of 3



